PART-A

Answer Keys

.No. | Option Details
1. a Changes since 1989
2. b disappointment
3. b Outcome that increases the chances of peace
4. a Cause of peace will become stronger
5. d New order based on justice
6. C Actually occur
7. a Smaller wars
8. d although
Q. C take
10. b More difficult
11. a outside
12. C composition
13. C incidentally
14. b suffer
15. a lack
16. C ST @ TIWTST BT SR S B dTall &l [a9To &
17. d FRAITT ATH Bl IS
18. a PHHIT: Hfd R AH |
19. c ST U8l & A &l
20. b IRRTT & TR U H URId fhar ST |
21. a ECRERI
22. C BTH DI JOIEIAT R GRT R Slelll ©
23. a SUID]
24, d gfer
25. d HRAT
26. d wie
27. a gRord
28. b qrer
29. c JHT0T
30. b q &
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PART-B
Answer Keys

Q. No. | Option Details

31. b 5000

32. d 26

33. a 18000

34. d 8, 24000

35. a 1/8

36. b Manish is older than Arjun.

37. a Baking powder is the least expensive.

38. d None of the trees in the park are non-flowering trees.

39. c Neelam was slower than all others.

40. a All triangles in the box are blue.

4]. d Ravneet and Rashi’s houses face opposite sides.

42. C Manish and Lata are bench partners.

43. b Rs.190

44, c 15% of poor farmers’ credit needs and 90% of rich
farmers’ credit needs are met from the formal sector.

45, d History

46. b Immuno-resistance

47. c 66

48. b 55

49, d 855

50. d Guijarat, that enacted a similar law a decade ago, saw a
statistically significant drop in lung-cancer rates among
non-smokers.
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PART-C
Answer Keys

Q. No. | Option Details

51. a Tennis, Badminton, Boxing

52. a an environmental activist and major proponent of Green
concept of Sustainable Development

53. c learning difficulty to read fluently and with accurate
comprehension despite average intelligence.

54, d Flexible production

55. a A population which produces the highest output per head

56. C A-ii, B-i, C-v, D-iii, E-iv

57. a Romila Thapar’s ‘Asoka and the Decline of the
Mauryas’

58. b land 4

59. a The Himalayas

60. a Only Scheduled Tribe candidates can stand for election

61. d Freedom to carry out any trade or profession

62. b 6

63. d 2

64. b Synthesised starch is stored in plastids

65. d Binary fission

66. b related to conduct of chemical processes.

67. b B>A>C

68. c Zero

69. b Equal to the time taken to go up

70. b The Tempest

71. a Amartya Sen

72. c Shape and size of the pelvis

73. a Shehnai and Tabla

74. b The price level of other countries increases at a more
rapid rate.

75. d The ratio of total income to population of Country A is
higher than the ratio of total income to population of
Country B.
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76. d All of the above

77. C Strengthen their forts without permission

78. a Madhya Pradesh

79. b The point on the surface nearest to the focus

80. b Government does not have majority in Rajya Sabha and
a joint session will give it majority vote to pass the bill.

81. a Unlike presidential system, head of the government is
not directly elected by people in the parliamentary
system

82. c 66

83. C Diksha cannot make any triangle.

84. c Round worm, Hook worm, Filaria worm

85. d Remain as it is

86. a Remains Brown

87. a 4ANO;

88. d The sun’s rays fall on us more nearly vertically in June

89. b 1lg

90. b Vijay Seshadri

91. C Saint Petersburg

92. C Is an instrument to empower the citizens, promote
transparency and accountability in the working of the
Government

93. d Triangle

94. b Increased CO, concentration in muscle cells

95. d A rise in value caused by market forces

96. c Increase Increase

97. b Women from high caste families and rich peasant
households participated in large scale.

98. c Changes in women’s clothing came about as a result of
the wars, especially the two world wars, as women
started wearing bright colour clothes and ornamentation
was encouraged.

99. a Tropical regions

100. C Karnataka

101. d Students with more marks are given extra time to speak
in a debate competition than those with less marks
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102. d The Supreme Court has given notice to both Central
Government and Delhi government on the quality of air
in Delhi

103. d 69%

104. a b-3

105. b Green lentils

106. a Flower colour is an inherited trait

107. b Reduction

108. b Mg(OH),

109. a N-m

110. a Amperes

111. b Kamayani

112. a is the Spiritual Head of the Tibetan people.

113. C Nitrogen

114, d All of the above

115. C The country has a more even distribution of income.

116. a Discovery of Fire-Invention of Wheel- Painted Grey
Ware- Northern Black Polished Ware

117. b Only i, iii and iv are correct.

118. C North to South in the northern hemisphere and South to
North in the southern hemisphere

119. a they have a short swift course down a steep slope

120. b Issue of a cheque book at zero balance

121. d All the above

122. C Withdrawal from a bank account by an individual when
the amount of withdrawal exceeds the total amount in
the account

123. C Judges of High Courts and Supreme Court cannot be
easily removed.

124, d Have an organizational structure

125. b Political democracy can coexist with economic
inequalities

126. b PQR is a right triangle with the right angle, Q.

127. a X-U<y-v

128. C Xylem tissues carried dye solution to the leaves

129. b Germinating seeds respire aerobically
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130. b 580 amu

131. b 469

132. d 0.4 atmosphere

133. C 3 meter

134, c Bhartendu Harishchandra

135. a Idgaah

136. b symbolises the harmonious fusion of cultural practices,
values and belief system of both Muslim and Hindu
communities

137. d Give the award to all six of them

138. b Higher interest rates in Australia

139. C The government wants a diversified industrial structure.

140. c Tomb of the first Muslim woman ruler Razia Sultana

141. d 1&4

142. C the earth is spherical in shape

143. C The Constitution lays down an arrangement of
institutions to realise certain ideals and values.

144, a People with more education take greater interest in voting
than those who are less educated.

145. C 8

146. C The ship displaces large amount of water which
balances the weight of ship.

147. d 101°C

148. d NaOH

149. C 25W

150. C There is a refracted ray in the glass slab at an angle less
than 30°
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